Pwsics 123 - ]Eébrumva IC(J 2013

Exam 1 for physics 123 takes place on Feb. 28 at 8 am in B&L 106.

That exam will cover the following material:

Problem sets 1-5

Workshops 1-4

Giancoli chapters 14, 15, 16 and 36 (except for sections 14-6, 15-10, 15-11)
Griffiths relativity chapter excerpt posted on Blackboard

Lectures 1 (Jan 16) thru some point on Lect. 9 (tomorrow) I think ... will make explicit when we reach that point.
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Waves 1n TwhesS or air columng (Wind tasTruments)
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Conceptual Example 15-7:
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